EARAZROREIERT — 2 N—XBISY —F 2019518238 (k) 14EIE%I6H

KM 3%—1 ¥ 5R3K (xwlw | lmEmml - |5 ) w8
[AE4£] 1 % :300,000 @ ~ 237:105000 @ 3 #:60,000 @ 47 :45000 F ~ 57 :30,000 M
RESB MK HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
Ry AR H o3 sﬁlﬁ*géé‘fﬁ 1:28.4 1-1-1-1 | 41.9| — | 3 | 478 ifz:%‘; CE)
LHLTAN=—b B:1TFTT-N2 ' ) ) s
777 ZxE0 # 3 Z’glﬁof%*/k 1:28.7 2222 |42 | — | 1 | a7 ﬁfgé ()
i 1172 ABEE
LHIIFUES BHIIA-XTY— e R
PRV AR I N A # 3 é%ii%ﬁ'l 1:29.5 3-3-3-3 |42.6| — | 4 | 438 Ej}:lﬂﬁu: (&=50)
. 4 _ i
QEL R w ML BiTA SO “ 2 i me
S <= aRlG ° 44~ - HF (S
IaL—151k 3 | HHt 1.(34()).3 4-4-4-4 | 42.9 6 g)e el
TSI SN - N A RFAR S
2 r 4 3 | BEEX 1:30.6 6-5-5-6 | 42.7| — 7 407 | BHEZ (BH)
5177 TUHARKRTT 54.0 (11/2) 1) |ZHER
L:TUHA XTI R B:IXFTx9Y KET 7 — L
P X i3 | LEEFE 1:30.6 7-6-6-5 |42.6| — 2 | 505 |EEME= (FE)
6l1lq|FurLP—12 5.0 (78%) =
LNy v - B:a-Uh RS
7155 F—t>2UZEL # 3 5?32%* 1:33.2 5-7-6-7 |45.1| — | 5 | 404 §=§;ﬁ;; (50
: a1 - THE
S e e 1) 9 | amgatt 127774
@ 11— F—EBIRML
1T=2r= 3,4,6,2,5,7,1
2R == 3,4,6,2,7,1,5
d=zr= 3,4,6,2,7,(1,5)
41 —F— 3,4,6,2,1,7,5
[ F/N=5
B OB 3 540 794K 3-4 330 5= 3-4 1,030M &R 3-4-6 1,010M
7B 3 210 3-6 600F4 BHE 3-4 1,850 e 3-4-6 6,080M
4 150 4-6 310M

ABICOVWTRDTEEERROODE. TR LIV,



